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1. (a) What are the basic principles of experi-

mental design? Describe.

(b) Define critical difference.

(c) What are the underlying assumption of

the analysis of variance?

(d) State the mathematical model used in

analysis of variance of two way classifi-

CRD  RBD 

6. How do you estimate two missing values in

RBD? Give its analysis.

7. Give complete analysis of Latin square design.

Also obtain an expression for critical difference

for testing two treatment means.

8. Why factorial experiments are preferred to

other experiments? Explain the method of cal-

culating sum of squares for main and interac-

tion effect in a 22 factorial experiment.

9. What is factorial experiment? Give in detail the

analysis of a 23 factorial experiment conducted

in r randomized blocks.

r-

kegâue ØeMveeW kesâ Gòej oerefpeS~ ØeMve nw
Deewj ØelÙeskeâ FkeâeF& mes ØeMve keâerefpeS~

ØeeÙeese fiekeâ DeefYekeâuhevee kesâ cetueYetle efmeæevle ke äÙee nQ?
efJeJesÛevee keâerefp eS~

›eâeefvlekeâ Devlej keâes heefjYeeef<ele keâerefpeS~

ØemejCe efJeMues<eCe keâer keâuheveeSB keäÙee nQ?

Skeâ ÙeeÂefÛÚkeâer KeC[keâ DeefYekeâuhevee keâer mebjÛevee SJeb efJeMues<eCe
efJeefOe oerefpeS~ SJeb o#eleeDeeW keâer leguevee Yeer keâerefpeS~

Skeâ ÙeeÂefÛÚkeâerke=âle KeC[keâ DeefYekeâuhevee ceW oes ueghle Øes#eCeeW keâe
Deekeâueve leoghejevle Fmekeâe efJeMues<eCe kewâmes keâjles nQ?

uewefšve Jeie& DeefYekeâuhevee keâer hetCe& efJeMues<eCe efJeefOe oerefpeS leLee oes
GheÛeejeW kesâ ceeOÙeeW keâe hejer#eCe keâjves kesâ efueS ›eâeefvlekeâ Devlej
%eele keâerefpeS~

yengGheeoeveerÙe ØeÙeesieeW keâes otmejs ØeÙeesieeW keâer leguevee ceW yesnlej keäÙeeW
ceevee peelee nw? Skeâ 22–yengGheeoeveerÙe ØeÙeesie ce W cegKÙe SJeb
DevÙeesvÙe ØeYeeJe kesâ Jeie& Ùeesie keâer ieCevee keâjves keâer efJeefOe mecePeeFS~

IeškeâerÙe ØeÙeesie keäÙee nw? Ùeefo 23–ØeÙeesie ÙeeÂefÛÚkeâerke=âle KeC[keâeW
ceW efkeâÙee ieÙee nes, lees efJeMues<eCe keâes efJemleej mes e fueefKeS~

heeBÛe meb. 1 DeefveJeeÙe& 
Skeâ 

 FkeâeF&

 FkeâeF&
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cation with m observations per cell.

m 

(e) Define Precision.

(f) Define Interaction.

(g) In a Latin square design, 1 observation is

missing, write the degrees of freedom of

ANOVA table.

ANOVA

(h) In an analysis of variance problem for one-

way classification, observations with 3

classes and 3 observations per class, the

calculated F is 2.5 and total sum of

squares is 22. What will be the mean sum

of square between classes?

F 

(i) In a RBD, if error sum of squares is 90,

Mean error sum of squares is 22.5 and

the no. of plots in each block is 3. Then

what will be the total degrees of freedom?

(j) In a 23-experiment with factors L, M and

N write down the effect [L].

23 L, M N 

[L]

2. What is analysis of covariance? Give in detail

the analysis of covariance when it is carried

out in one-way classified data.

3. Give in detail the analysis of variance for two

way classification with m(>1) observations.

per cell.

m(>1)

4. Describe the basic principles of design of ex-

periments with suitable examples and men-

tion their roles.

5. Give the layout and analysis of RBD compare

the efficiency between CRD and RBD.

ØelÙeskeâ mesue ceW Øes#eCe Jeeue s efÉOee Jeieeake=âle ØemejCe
efJeMues<eCe keâe ieefCeleerÙe Øeefle™he efueefKeS~

heefjMegælee keâer heefjYee<ee efueefKeS~

DevÙeesvÙe ef›eâÙee keäÙee nw? heefjYeeef<ele keâerefpeS~

Skeâ uewefšve Jeie& DeefYekeâuhevee ceW 1 Øes#eCe ueghle nw, 
leeefuekeâe keâer mJeelev$eÙe keâesefš efueefKeS~

SkeâOee Jeieeake=âle Øes#eCeeW ke sâ efueS, efpemeceW 3 Jeie& leLee
ØelÙeskeâ Jeie& ceW 3 Øes#eCe nw, kesâ ØemejCe efJeMues<eCe mecemÙee
ceW keâe heefjkeâefuele ceeve 2.5 leLee mekeâue Jeie& Ùeesie 22
nw, lees JeieeX kesâ yeerÛe ceeOÙeJeie& Ùeesie keäÙee nesiee?

Skeâ ÙeeÂefÛÚkeâ KeC[keâ DeefYekeâuhevee ce W $ege fš Jeie& Ùee sie

90, ceeOÙe $egefš Jeie& Ùeesie 22.5 SJeb ØelÙeskeâ KeC[keâ ceW
hueešeW keâer mebKÙee 3 nes, lees kegâue mJeelev$eÙe keâesefš efkeâleveer
nesieer?

Skeâ -yengGheeoeveer DeefYeØeÙeesie ceW leLee keâejkeâeW
meefnle, keâejkeâ  keäÙee nesiee?

menØemejCe efJeMues<eCe keäÙee nw? Ùeefo DeeBkeâÌ[s SkeâOee Jeieeake=âle nes,
lees menØemejCe efJeMues<eCe kesâ efJeefYeVe henuegDeeW keâes efJemleej mes
efuee fKeS~

ØelÙeskeâ keâes‰ ceW  Øes#eCe Jeeues efÉOee Jeieeake=âle DeeBkeâÌ[eW
nsleg ØemejCe efJeMues<eCe keâer JÙeeKÙee keâerefpeS~

GheÙegòeâ GoenjCeeW Éeje DeefYekeâuhevee ØeÙeesie kesâ cegKÙe efmeæevle
keâe JeCe&ve keâerefpeS SJeb Gvekesâ cenlJeeW kesâ efJe<eÙe ceW yeleeFS~
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